IR1000-A/2000-A/3000-A % xR

D 069 \\

il 5
—— Aloprat
Pveny = g
(T8 s — = (ONS
PRI Common specification repe ‘g ‘:w:
we AR (F4)
Z IR10[10-A | IR20(10-A IR3010-A
ERRE =5
RIEME S 1.5 MPa
BEH#EEN 1.0 MPa

RIRMBEN )

REES +0.05 MPa

& EEH+ 0.1 MPa

IR1000-A : 0.005 ~ 0.2 MPa

IR2000-A : 0.005 ~ 0.2 MPa

IR3000-A : 0.01 ~ 0.2 MPa

BREENEE IR1010-A : 0.01 ~ 0.4 MPa IR2010-A : 0.01 ~ 0.4 MPa IR3010-A : 0.01 ~ 0.4 MPa
IR1020-A : 0.01 ~ 0.8 MPa IR2020-A : 0.01 ~ 0.8 MPa IR3020-A : 0.01 ~ 0.8 MPa

REE HHERN0.2% A A

ESHE £2 H{ERY0.5% LA

TSHEREE 9 1 L/min (ANR) AT

BEEOR 1/8 \ 1/4 1/4, 3/8, 1/2

EhFE 1/8 (2 &)

WRRENERRERE £ 4 -5 ~ 60°C (FKFL)

B (kg) %9 0.13 \ 0.23 0.47

1) HOMTRERIFE. 2) FEHMNEL., BREFESHEFMEMNEYE. 3) MEEM : #4%4E11.0MPa, ®REES 0.2 MPa
4) HHFERNEDTFXHIFHE S5 ~ 50°C . 5) NinHiEaIHE.

ﬁﬂﬁiﬁ How to order

i e e e A

* IEBUESRfE fa—f SEIMETEFE—1.
* THET AR A RIC S IERRBREFFEIUFIRCR L.

‘ (1)
iBs 15t BA FERT
1 | 2 | 3
0 0.005 ~ 0.2 MPa ° ° —
. - 0.01 ~ 0.2 MPa — — °
(2 WEETEHE 1 0.01 ~ 0.4 MPa ° ° °
2 0.01 ~ 0.8 MPa ° ° °
+
S Rc ° ° °
(4 ) FRE IR 2 N NPT o o o
F G ° ° °
+
01 1/8 ° — _
- 02 1/4 — ° °
(5 BEO& 03 38 — — *
04 1/2 — — °
+
TS| TRIEAMET ° ° °
a R B 2| R ° ° °
H EANAERIEE (EREER) ° ° °
0 91':-5 ES
i - IBS| FAHE ° ° °
o g0 BENE G | ARESE . . .
- EA | NPN &IRFFEE 1 i o ° °
' c HHFXENT| EB PNP SRR FFEE 1 41 ° ° L]
x EC | NPN £ERRFFEL 2 M + =R ESH ° ° °
ED | NPN £r#RFFEE 2 i + EBEREH ° ° °
+
ﬁ g ##AERE |LIES| mEAE: E-A ° ° °
9" R | mawh . 5% . . .




IR1000-A/2000-A/3000-A¥5% R Eif®

$TETE

MEIFE (k=@ Flow rate characteristics

IR1020-01-A HHEAES . 0.7 MPa IR1020-01-A HEMES - 0.7 MPa
0.7 N 0.7
0.6 \ 0.6
= 05 ~ 05 T
o o
=3 0.4 N 0.4 =3
R N -
X 0.3 03 >
2 N :
R 0.2 \\ \\ 0.2 =
0.1 —_ \ 0.1
0 0
0 200 400 600 800 200 150 100 50 0
& [L/min (ANR)] 8 [Umin (ANR)]
IR2020-02-A #44EF . 0.7 MPa IR2020-02-A LEMES . 0.7 MPa
0.7 0.7
\\
0.6 \ 0.6
< 05 0.5 =
o o
= 0.4 0.4 =3
= \ \ N
al 0.3 0.3 H
g — AN 5
R 0.2 \ \\ 0.2 ~
0.1 ~ 0.1
\
0 0
0 500 1000 1500 2000 600 450 300 150 0
8 [Umin (ANR)] a8 [L/min (ANR)]
IR3020-04-A #4EH . 0.7 MPa IR3020-04-A EEMEH . 0.7 MPa
0.7 0.7
06 \ 06
< 05 ™~ N 0.5 T
o \ o
2 04 \ 0.4 =)
A 0.3 0.3 =
2 N ~ ¥
0.1 0.1
—
0 0
0 1000 2000 3000 4000 5000 6000 5000 4000 3000 2000 1000 0
s [L/min (ANR)] & [L/min (ANR)]

[EH451% v =) Pressure properties

#4EH . 0.3 ~ 1.0 MPa
BEES . 0.2MPa

4 E 5 . 0.3 ~ 1.0 MPa
BEES . 0.2 MPa

HEES . 0.3 ~ 1.0 MPa
WEES : 0.2 MPa

IR1000-A 2 . OL/min (ANR) IR1020-A 2 . OL/min (ANR) IR1010-A i . OL/min (ANR)
0.210 0.210 0.210
0205 0205 0205
g BRER g BER n; BER
= I s B = e 3 Y i
= 0200 — R 0.200 ~ R 0.200 =
il — = il 1 — = ——— =
i) 14 I
o B &
0.195 0.195 0.195
0.190 0.190 0.190
02 03 04 05 06 07 08 09 10 1.1 02 03 04 05 06 07 08 09 10 1.1 02 03 04 05 06 07 08 09 10 1.1
45 % 71 [MPa] {45 % 71 [MPa] f#eaE S [MPa]

J/ 070



D 071 \\

IR1000-A/2000-A/3000-A¥s & R Eif

$TETE

EF4FYE (o &=) Pressure properties

H#AES . 0.3 ~ 1.0 MPa
WREES . 0.2MPa

4 EH . 0.3 ~ 1.0 MPa
BEES . 0.2 MPa

#EES - 0.3 ~ 1.0 MPa
®EES - 0.2 MPa

IR2000-A shi . OL/min (ANR) IR2020-A i . OL/min (ANR) IR2010-A e . OL/min (ANR)
0210 0210 0210
0205 0205 0205
g /i&ﬁ %)) g / BER g / BER
= -t = - | —— = A= e
= 0200 = 0200 = 0200
2} — - 1 LT | T 1 —T -
i) i) i
B e o
0.195 0.195 0.195
0.190 0.190 0.190
02 03 04 05 06 07 08 09 10 1.1 02 03 04 05 06 07 08 09 10 11 02 03 04 05 06 07 08 09 10 1.1
45 % 71 [MPa] {48 % 71 [MPa] 145 /% 77 [MPa]
BUAES . 0.3 ~ 1.0 MPa BHAES 0.3 ~ 1.0 MPa WAFEH .03 ~ 1.0 MPa
RS . 0.2 MPa WRES . 0.2 MPa BEES . 02 MPa
IR3000-A 1”%; OL/min (ANR) IR3020-A S8 . OL/min (ANR) IR3010-A %% . oLmin (ANR)
0270 0210 0210
0205 0205 0205
£ BER £ BER & BER
E 1y = I s B = 1y
= 0200 = 0200 — = 0.200
1+ — [es} T | [ual —
i o o
e B B
0.195 0.195 0.195
0.190 0.190 0.190
02 03 04 05 06 07 08 09 10 1.1 02 03 04 05 06 07 08 09 10 1.1 02 03 04 05 06 07 08 09 10 1.1
45 % 71 [MPa] 43 E ) [MPa] HEE S [MPa]
: E=
Ly
— @ e
= oo B =
e —
L o iz — . .
o - _ l Y
4 q 2 . == —
IMEZR~F Shape dimension figure i3 A .
1 ej? T
. o - e
EHARR(F#):IR10J0-011-A B>
-
-
i Es w
| 2 |
‘ |
| |
| ¢ |
M10 x 1 25 I ‘
75 ‘ ‘ |
RHTL ‘
I
0 M28 x 1.5 1.6 ‘ 34 !
< *Fi
\ 5 28 ‘
: , ‘ 9| o
T I S
IH=l b=l g ot T ‘
o 2x1/g _BLEED = § ‘ !
S Ay 7 T I
o| R
IN o0 M| OUT i ©
N
ﬁ/\ 2x1/8 @
EXH /)% °
[135




IR1000-A/2000-A/3000-A¥s & R Eif

$TECTE

JMIZR~T shape dimension figure

.................................

113.3

,égfgzé
AR
ety

' FHFERENTFXAI5E IR10]0-01JEI-A
1
' M10 x 1 25
1
1
1
' M28 x 1.5 16
1 —
. N
; !
Loo2xiB BLERD il | 12
. EEOR - vl &
1 © f.?)
N~
: : FOul &
[
- Y e
[ go |
' 1 @
1 57 o
' EXH
'2x1/8
VEREBO ...
32
9.5
T
elzE T ﬁ M28 x 1.5
A=) ——t
R —
L P 4
N
o ~
T T © ©
_ 0
| e N | ~
IN o =z ‘|| ouT
LI 5
R :
2x1/8
EXH EHEED
[150
F === === = = = = = @ @ @ =« = = = @ @« « = = =@ @« = = =« [l

wHFRENFXHFE IR20L10-02[ E[ -A

1
1
1
1
' 30
1
1
' M12 x 1
. 2
1 T >)
! M28 x 1.5 H
. |
. m -
' i |
' 2x1/4 k=
; BEOE\ e o
. | —— H Q
X ) M= mnl L
o
' e |@ By &
<
[ T -
' v [
1
! 64.5 l
' o2x1B EXH
v EAREBO
1
1

EXHE A EZREN BRIIMNEARAELHR.

J/ 072



IR1000-A/2000-A/3000-A¥s & R Eif

YMIZR~F Shape dimension figure

EHAR (F#)IR30[]0-0[ [ -A

22
o g/

(FTE ) NAERIEERY
T

76

] 1 PN_ENE
(TT3ETR)
68.5 48
M12 x 1
ZE 2.3
3 M28 x 1.5 =
, .o "\
' 2 Ry |
T~ [ T~ BLEEDES= g
2x1/8 e - T T |H
ENRED : o o Pr | | -
Q r -
- Y ol | o
N 4 S L 3 -
— ; I E—
M L ~ — mol
L U ! ‘/ l 7 Iy T n—{ ] [V
U <

2x1/4~1/2 :
EEOR |
l 1/2

< s ) 4
EXH Exy EEAE

HEF R EHFFXIR30J0-0L [ IE[ -A

725
M12 x 1 !» E 223 T‘

‘ 76
o e | ‘
M28 x 1.5 ‘ — 5 ‘
BLEED ‘ X !
| I, | |
3 | | \ ~ ‘ ‘
0 [ of 7| e ‘ ‘
2x1/8 w —r ‘ ‘
F% ;l% \MF_ w 60 |
‘ 46 ‘

[ee]

| T [} ‘C_’ N
M= NGNS g
2x1/4 ~ 172 f——f L ‘ ‘
BEOE ]

| \a2
EXH BEA#E

D 073 \\



